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LIBRARY & INFORMATION SCIENCE

Note

g :

PAPER - Il

Away 4 Wl Qs
Yy-III

:This paper contains Seventy five (75) multiple-choice, assertion and

reasoning/matching questions. Each question carrying TWO (2) marks.

Attempt All the questions.

W WAL YAldR (0u) olglasely usdl, w-uig A ASsi olrtddi-il wsd

B, MM Uil s aval 8. uds s A () e 8.

Assertion (A) : Computerization
of college
libraries in India
has speeded up
NAAC is one of
the forces for com-
puterization of
college libraries
(A) (A) is true but (R) is false
(B) (R) is true but (A) is false
(C) Both (A) and (R) are true
(D) Both (A) and (R) are false
The formula for measuring the
recall ratio is :

(A) Number of relevant items
retrieved/Total number of
relevant items in the collection
x 100

Number of relevant items
retrieved/Total number of
irrelevant items 1in the
collection x 100

Number of irrelevant ifems
retrieved/Total number of
relevant items in the collection
x 100

Number of relevant items in
the collection/Total number of
relevant items retrieved x 100

Reason (R) :

(B)

(C)

(D}

Lib. & Info. Sci.—III—A

1.

s (A) © GUAAHL 51A% diyladid
sty 2R »syl
o3 19,

sld Aylayl-l
519y 2 AGBAUA ML+l
yReegiuiell ds ua s
yRe .

(A) (A) Y B Wig R) v &
(B) (R) ¥ & uid (A) Wig 9
(C) (A) » (R) oid WUl &

D) (A) 21 (R) ol w2l &

Wil wHiel (Asia Jeal) Hiueg ux
(stfeu) Wled :

(A) Mitd oilad  atul-l
AvyYRIASHL Guasy sa uoilAd
AUl vyl x 100

yitd Aoilad  wnAlHl
AvALRAASHL Guase gd 216y
AHAAL Avul x 200

witd  uHes M ALA]
ALy RAASHL Guaos go Aoilad
AHALAL 2AvuL x 200
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511 (R)

(B)

(C)

D)
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3.

Path-finders are basieally :
(A) Subjgct bibliographies
(B) Bio-bibliographies

(C) Indexes

(D) Bulletins

Kissings Record of World Evgnts is
a:

(A) Newspaper

(B) An annual -

(C) News digest

(D) An almanac

Which agency drafted National
Policy on Libraries in India ?
(A) Department of Culture, Govt. of

India

(B) Department of Education, Govt.
of India

(C) University Grants Commission

(D) Raja Ram Mohan Roy Library

Foundation
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Which of the following is not true
about the concept of Information
Policy ?

(A) It is a multifaceted concept

(B} Academic  writings on
information policy can be found
only in Library and

Information Science journals

(C) It is related to Information

ecosystem

(D)} It has evolved as a direct
response to the emergence of
ICTs

According to Matchlup, the
difference between Information and
Knowledge is :

(A) Information increases with use,

whereas knowledge is constant

(B) Information is stimulatory,
whereas knowledge is practical

(C) Information is shareable,
whereas knowledge is one’s

property

(D) Information is piecemeal,

fragmented, particular,
whereas  knowledge is
structured, coherent and

universal
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10.

Identify the correct logical sequence
in research process :

(A) Problem
interpretation, findings, data

identification,

collection

(B) Data
identification, interpretation,

findings

collection, problem

(C) Data collection, interpretation,

findings, problem identification

(D) Problem identification, data
collection, interpretation,
findings

Which of the following is not a
referencing style ?

(A) Chicago Manual of Style

(B) American Psychological

Association

(C) Resource Description and
Access

(D) Scientific Style and Format

The concept of ‘artificial intelligence’

(A) Second
(B) Third
(C) Fourth

(D) Fifth
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11.

12.

13.

Which theory of motivation assumes
that employees are inherently

lazy ?

(A) Herzberg’s theory of motivation
(B) McGregor's theory X

(C) McGregor’s theory Y

(D) Maslow’s theory of motivation

The concept of pre-natal cataloguing

was given by :

(A) Margaret Mann
(B) C.A. Cutter

(C) S.R. Ranganathan
(D) P.N. Kaula
Notation is :

(A) Isolate Term

(B) An artificial language of

symbols
(C) Special class

(D) A mathematical symbol
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14.

15.

The first man who used the word
‘Bibliography’ in his ‘Bibliographic
Parisiana’ was :

(A) Fredson Bowers

(B) Paul Ottet

(C) Henri La Fontaine

(D) Louis Jacob de Saint Charles
Match the following and choose the
correct answer from the codes given

below :

(i) Index Translationum (a) AGRIS

(i) Mesh (b) INIS
(i) EURATOM (c) MEDLINE
(iv) AGROVOC (d)UNESCO
Codes :

@ @ G G
A4 @ © @& @
B) @ @ b ©
Cc© ® ¢ @ @
D @ @ G ()
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16.

17.

‘Books in Print’ is a :

(A) National Bibliography
(B) Trade Bibliography

(C) Bio-Bibliography

(D) Analytical Bibliography

Arrange the following in the
sequence of information cycle after
an event happens :

(i) Articles in popular journals
(ii) Articles in newspapers

({i{) News wire reports

(iv) Articles in academic journals
(v) Books on the subject

The correct answer is :

(A) @), GD), GiD), Gu), (v)

B (@), @), @), (iv), (v)

(C) (D), Gii), @), (v), (V)

D) (v), Gv), (i), @), @)
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18.

19.

20.

What is the full form of WIPO ?

(A) World Intellectual Property

Organisation

(B) World Intellectual Public

Organisation

(C) World Intellectual Property
Office

(D} World International Property

Organisation
Deductive Logic proceeds from :
(A) General to Particular
(B) Particular to General
(C) General to General
(D) Particular to Particular

In Binary Number system digit

9 is represented by :
(A) 1000
(B) 1001
(C) 1010

(D) 1011
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WIPO « Yz -ud g & ?
{A) World Intellectual Property

Organisation

(B) World Intellectual Public

Organisation

(C) World Intellectual Property
Office

(D) World International Property
Organisation
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21.

22.

Packet switching is :

(A) A store and forward switching
system

(B) A circuit switching system

(C) An electromechanical

switching system

(D) A crossbar switchiﬂg system

Assertion (A) : Dot matrix
printers are
preferred for

routine library
printing by small
libraries
Reason (R) : Dot matrix print-
ers are slow and
cheap
(A) (A) is true (R) is false
{B) (A) is false (R) is true
(C) (A) and (R) both are true

(D) (A) and (R) both are false
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23.

24.

Which budgeting system requires
the budget request be re-evaluated

thoroughly ?
(A) Line budget

(B) Programme Planning and

Budgeting System
(C} Zero-Base Budgeting
(D) Physical Quantity Budget

A drawing titled “View of Honolulu”
sketched from nature by Paul
Emmert and printed by Briton and
Rey at San Francisco would be
entered in the main entry according

to AACR—2 under the Heading :
(A) View of Honolulu

{B) Emmert, Paul

(C) Briton and Rey

(D) San Francisco
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25.

26.

Analytico synthetic approach

involves :
(A) enumerating main . classes

(B) Analysis of compound subject in

facets
(C) Building complex numbers
(D) Creating devices
A translation pool is :
(A) A collection of translators

(B) An agency holding collection of

translated documents

(C) An index of translated

documents

(D) A bibliography of translated

documents
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27.

28.

29.

INSPEC is published by :
(A) American Physical Society

(B) Institute of Engineering and

Technology

(C) Institute of Electronic

Engineers
(D) American Chemical Society

Lexicology is the science and art of

compiling :

(A) Encyclopaedia
(B) Directory

(C) Handbook
(D) Dictionary

Which of the following can be
identified with Ranganathan’s fifth

law of Library Science ?

(A) Providing SDI service

(B) Providing open access

(C)} Providing analytical entries

(D) Opening branch libraries

Lib. & Info. Sci.—ITI—A

14

27.

28,

20,

5.2 AR LS AL (S=2Us) Sivu
gll UsUEd s2aMi »ud &

(A) 2[5 (Boflse Ayl

(B) $-2dley2 2iis [y s
2sildio

(C) §-leye s Sdszils

B[y [maal
D) »A[is4 3Bse A

soetd [QAstin dulr s34l

wizq [Asuq = soy 6.
(A) AuSsdifugla
(B) [535231

(C) 8508

D) [Bsa-3l

AlAwniefl o oA winHi Yot

AR oifad § ?

(A) AA.sl.aus. Aar suudl

(B) ¥5d g1 UAN lLudl

(€) yussly «ddl (AAv) shuay

(D) vl AWEAl iadl



30. Match the following and choose the
correct option from the codes given
below :

({) National Knowledge (¢) Bhattacharya

Commission

(iZ) Berne Convention (b) Sam Pitroda

(iii) Communication model(¢) Copyright

{(iv) National -Informatiuﬁ’(d) Shannon and

Policy Weaver

Codes :
@ @) @) G
A & (@© (d') (@)
® @ G @ @
C) © @ @ W
D @ @ & (©

31. Which of the following is not a

technique of ‘Graphical

Representation’ ?
(A) Pie chart
(B) Table

(C) Bar chart
(D) Histogram
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32.

33.

34.

Which of the following is a
synchronous communication tool

that can be used in e-learning ?
(A} E-mails

(B) Mailing Lists

(C) Newsgroups

(D) Instant Messaging

Joystick is :

(A) An input device

(B) An output device

(C) A storage device

(D) A processing device

vereneeeenoadS & technique to
conduct periodical evaluation of

employees.

(A) Job rotation

(B) Performance appraisal
(C) Job analysis

(D} Job description
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34,

37.

Which of the following is not an  35.

indexing tool ?

(A) Roget’s thesaurus
(B) MESH

(C) TEST

(D) Macrothesaurus

If a book is written by Four Authors 38,

then according to AACR-2, the

Main Entry will be under :
(A) First Author

(B) -First Two Authors

(C) All the Four Authors
(D) Title

Display of new arrivals is...............

service.
(A) CAS
(B) SDI
(C) Reference

() Circulation
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38, Chemical Abstracts Service was
started from the year :
(A) 1906
(B) 1907
(C) 1908
(D) 1909
39. Which of the following library
association has not changed its
name ?
(A) IFLA
(B) ASLIB
(C) ALA
(D) Library Association, UK
40. Match the following and choose the
correct option from the codes given
below :
(i) ALP (e) FID
(it) CDS/ISIS (b) Library of Congress
(zzr) U.D.C. (¢) TFLA
(iv) CIP (d) UNESCO
Codes :
@. @) GG Gw)
Aa @ @ (@ b)
B) @ (e (&) (@)
C) @ @@ (c) )
o & @ (@ (c)
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™ @& @ (@ ()



41.

42,

‘Fair use’ is the norm for
determining the legality of :
(A) Producing the second edition of

a book
(B) Photocopying an entire book

(C) Making available a book to
another library on inter-library

loan

(D) Prescribing a book as a text-

book

In an Information Transfer Cycle,

the Publisher is at the following
stage :

(A) Storage

(B) Archiving

(C) Production

(D) Distribution

Lib. & Info. Sci.~III—A
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42.

ueGuaidL (32 y») A ... {l
siaeddt (RUlRd s Wi diza

£9 :

(A) slul [gdla 2udHdl o1z wsay

2
(B) AMA audl sicisivl sl

(C) »id2 dAulay Gerel 85U =y

ey 2y Gudoy s34

D) 516 Aud weuyads aly %

549l

Sl sadidae UsHi wsigA 1A

Aluit u wd & :
(A) ¥

(B) 2nlMdvilsig
(C) Grwen

D) [Adel

(P.T.0.]



S il ec N 43. ums 2d

{A) Average of all the scores in a

distribution (A) adusll-n oaix sl ¥z

3

(B) Middlemost value in a B) adaell-u q@_rq_.i weyadl ey,
distribution

(€) acaelul alalR Uitd g
(C) Most frequently occurring

value in a distribution Hey

(D) First value in a distribution N .
1 (D) aduelld Al uan yeu

44. Identify the most appropriate - = .
Y gk 44. SIS As Aaa arg YR AW 52

method to conduct investigation on W2 w3, @S oterd, 821 255t
a single research object and attempt 53 CL‘L il cd | Yoy yglad
to gather extensive data about 'it : 2l
(A) Survey Method (A) ud Aus
(B) Case Study Method (B) %A w8l Aus
(C) Delphi Mothod (©) 3¢5l Aus
(D) Content analysis (D) [Qvuazg yassw
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45.

46.

47.

In Building Block Search Strategy

to increase the precision, one can :
(A) Add a facet

(B) Increase the Postings in the

facet
{C) Remove a facet
(D) Increase the precision

Who has developed the PubMed

database ?

(A) British Library

(B) Indian Medical Association
(C) National Library of India

(D) US National Library of

Medicine
A standard TQM tool would be :
(A) Questionnaire
(-B) Interview
(C) Diary

(D) Flow chart
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45,

46.

47.

Biesla oats ais YBaui Aisad
CUTEETIR R U Guaiol as

u :

(A) #s yuis GG

(B) YuisHi »id yus GARAl
(C) Yuis ¢ 539

D) ALsALSHL qrRL A 48 U3
Yolils s216ly S8 [Qsel © 7
A) Bida asal

(B) Slsun ABsa il
(C) Audd dAdel s Slsul

(D) 3. 2. Auna add s

Slrsu

AA-uuidl Adsyaug wEsd Gusw
5487

(A4) uarlaly

(B) ydlsld

(C) szl

D) sdlue

[P.T.0.]



48.

49.

“We cannot use the characteristics
‘date of publication’ and ‘the date of
first edition’ one after the other to
divide a universe of books.” Identify
the canon that directs us to this

guideline :

(A) Canon of Differentiation
(B) Canon of Ascertainability
(C) Canon of Permanence
(D) Canon of Concomitance

Who profounded spiral of scientific

method ?

(A) S.R. Ranganathan
(B) Parthasarthy

(C) H.E. Bliss

(D) E.C. Richardson
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48.

49.

‘ustat asl’ A ‘uay wtigdl-
wsla Qal’ A Bs WA Gl 4
iy Qg Roumd s30 w s’

5y, Guzg vl Yoled Yy we © ¢
(A) Mesdid Guyat

(B) [RAudid Guyat

(C) Rardid Guya

(D) %lé.all[ilclli Byt

dauls ugla-ll gsoll sid »udl ?
(A) AR, Ta-uaH

B) wdawf@

(C) .S, [Ban

D) .4, 2usu- -



50. Arrange the following publications

in their chronological order from the

earliest to the latest :
(1) A.L.A. list of Subject Headings

(ii) Subject Headings used in the
Dictionary Catalogues of the
Library of Congress (Later
changed to ‘Library of

Congress Subject Headings’)

(iit) Rules for a Dictionary

Catalogue

(iv) List of Subject Headings for
Small Libraries (later changed
to ‘Sears’ List of Subject
Headings’)

(A) @), (i), GiD), ()

(B) @id), (i), (i), Giv)

(C) G, (@), i), Giv)

@) @), (D), (i), Gv)
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50. (AL usa-id sisu yoer wagdl

ydedl U3 s3I edenAL s4 HAo

ALl :

@ w.dd. e, (422 2§ AoFs2
R

(i) UTs2 dsloy Yxus O o [Bserl
kecllany wlig 4 at1de ] i st
(uelell seendla ‘arsSal »ig
slda wewse dslow)

(i) 3 1R 2 [Bse3] dedia

(fv) (A2 25 AoHs2 SS[oU SiR Bild
arde Ay (ulell seandld

Aud dle s uegse dsha’)
(A) ), (@), (D), (v)
(B) (i), (&), (), (v)
(C) i), (i), (i), Gv)

(D) @), GiD), (i), (iv)
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51. Who suggested theories of reference
service ?
(A) S.R. Ranganathan
(B) James Wyre
(C) Melvil Dewey
(D) William Katz

52. Match the following and choose the
correct option from the codes given

below :
(i) Abstracting services (e} SCI
(if} Translation services (6) INB
(iii) Bibliographical services (¢) LISA
({v) Indexing services (d) Index

Translationum

Codes :
@ @ G Gv)
A © @ & (a)
(B) ) (o (a) (b)
) © @ @ b)
M (@) (@) (e) (d)
53. Full-text online journals are
examples of :
(A) Primary documents
(B) Secondary documents
(C) Tertiary documents
(D) Meta documents
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51.

52,
(z)

(iz)
(iiE)

(v}

Azel Addl Rgidl S8 YA el
sl ?
(A) 2.3, oLl
(B) Z* iR
(€) Hedla sys
D) [alduy siex
A1 sisHidl w2 [@Aseul Asi
AL 59 Adl @ AL
9.
wlrdle Al (B) G20l
AU A @ dla
REellsrm A @) S-a
2L AN

&S :

53.

@) @ ) o)
Ay ) @ &) (@)
B @ (© (@) ()
(Cy (€ (@ (d) &)
D @ ) () (d)
Yol wis (s8¢ 25u2) 2l »-la
........... Al GelerBl &iu 8.
A) wals v
(B) fadlus uawil
(C) qdlus uawi
(D) HaL udvl



o4.

59,

(i}

014}

(tif)

{iv)

Which of the following is not true
about formal communication ?
(A) It has arranged participants
(B) It is scheduled in advance
(C) It has random participants
(D) It has a preset agenda

Match the following and choose the

correct option from the codes given

below :
Information that (@) Social
contributes to GNP Information
Information that (b) Technological
changes human Information
activity
Information that {c) Economic
establishes interaction information

between government
and people
Information that forms (d) Political

a modern society information

Codes :
@) (@) () Go)

A @ @ @ O

B) @ (a) (b) (d}

C) (@ (&) (c) (d)

D) (@} () () (c)
56. Network Analysis Technique

cCOMprises :

(A) PERT/CPM
(B) SWOT Analysis
(C) PEST Analysis

(D) Performance Appraisal
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o4.

85.
®

(@)

(iii)

i)

51S :

56.

Als weuu Aoid {lAunid) g w2
el ?
(A) dydRallza el Al izl 41Q

&
B) A ydFallzd audur ¢id 8
(C) o Yguy oL AL 421d
O a ydRallRd sefyf (a-st)

qd &
A1 sisuidl w2 Qseyl Asi :
o e ], Hi @ A
sWLL Bl Hild) Hiladl
yiAdly, alafafadl @) 2sldimsy
Wadq s2dl H(ladl
Hi(adl
AR AL Al ) 2uls
a3 »lid[Fu Hi{adl
LUt 52l
ifadl
25 2GS Ux @ AT
Foda sdl wRd) wiedl

@ @) ) Gu)

(A) (o) (a) (d) (b)
(B) © (a) &) (d)
(C) (@ (B (e) (d)
Dy (@ (d) b) {c)
dead yussaa w@kal ...
AHE €9,

(A) wfall. ol =,
(B) iz nlcllfla
(€ W2 i-uella
(D) sidzvia yeuisH

[P.T.O.]



o7.

bE.

59.

A probability which is associated
with the occurrence of an event is

expressed as a number between :
(A) 0 and 1

(B) +1 and -1

(C) -1 and 0

(D) 1 and < 1

Identify the statement that is true
about ISDN :

(A) ISDN is limited to transmission

of voice only

(B) ISDN is simply a point-to-point

solution like a leased line

(C) ISDN

communication

1s purely digital

(D) ISDN cannot provide

simultaneous voice, video and

text transmission
One gigabyte is equal to :
(A) 2000 MB
(B) 1024 MB
(C) 1080 MB

(D) 1006 MB
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57.

&

59.

519 #edi-l 8lRd wardl Aeua-ua
Asd Sl HIR2 Al a1 is
a8 culaqami 2ud &

(A) 0+ 1

(BY +1 ¥ —1

(C) =1 214 0

(D) 1 A <1

LS. 2,82, [ U R

sl

(A) 208,283, 3l oL wiHA
Qe sl Yrd HallRd &

Y. uY. Sy, ¥ dles
Sl F31 UL 25 Yidee 2
yide Gia

218218l el Slwed
UUY 9

(B)

(C)

(D) U8 2. SLAH. @A, gad v

Y6y sclid 2l 2ls wdl 2l 571
Asg,

s Slasuse ........... HARR D,
(A) 2000 MB
(B) 1024 MB
(C) 1080 MB

(D) 1006 MB



60.

61.

62.

Identify the correct sequence of the

planning process :

(A) Strategies, Objectives, Mission,

Goals

(B) Goals, Mission, Objectives,

Strategies

(C) Strategies, Objectives, Goals,

Mission

(D) Objectives, Goals, Mission,

Strategies

Which of the following is not true

about the need to organize

information ?

(A) We organize information
because we need to retrieve

(B) We organize information for
posterity

(C) We organize information as it
is a basic human drive

(D) We organize information
because of its reliability

In the context of the structure, the

second component of the MARC

record is :

(A) Variable fields

(B) Fixed field

(C) Directory

(D) Leader
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60.

61.

62.

i uldaldl 4oy su4

e [V LET I

(A) el Gesy, 2y, 4@y
(B) dzd, 2u, (aad, A48l
(C) Al GReu, q&y, =y

(D) Geau, dgu, 2y, YAl

HilRdl cucanysAsl iasusdl Aoid

AAuiell g Wiy el ?

(A) 2w HiRdld gy 3
¢lal stzel 5 YAl saidl
x3Uld ¢ld &

B) sl eulaidl we wuldlq
oy 531 ¢l

(€) 208l Hfedld gy s
gl s 3 o wandl el
afafal

(D) 2048 Hdle dl Rraulydt
HI2 A 530 ¢l

Yol isel s 3584 Bdla 2sn

(CEET) R 4 slu 8.
(A) adlaoy [Fes

B) [Bsy [Bes

(C) (832l

D) dls?
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63.

65.

Indicate the appropriate sequence
of process involved in the provision
of Ready Reference Service :

(A) Assimilation—Service—
Preparation

(B) Service—Assimilation—
Preparation

(C) Preparation—Service—
Assimilation

(D) Preparation—Assimilation—

Service

Ready Reference Service is more or

less :

(A) Fact finding service

(B) File finding service

(C) Document finding service

(D) Patent finding service

UGC Curriculum Development
Committee, 2001, was established

under the chairmanship of :
(A) P.S.G. Kumar

(B) P.N. Kaula

(C) C.R. Karrissiddppa

(D) Sam Pitroda
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63. Mgc Aeol Aar iyami Aqmiel

65.

56 uBai-l s34 Wy & -

(A) uRUd $g—Aal—autl
(B) ddl—lcHuld 53—yl
(©) du—Del—UHAd 539

D) dull-sleiid $3g—Adl

Udd deel Aar Mt eudl
8.

(A) eflsd (deu) aaa-ll Aql
(B) 5194 wiad-dl Aal
(C) uavi swigal Aar

(D) s (Ueve) siimar-dl Al

Y @ Al sAsyan saavd-e {4

001 si-l segdmi s sdl ?
(A) dl.Axn.o. guR

(B) VLA, slal

(€ A2, sl

(D) A [anist



66. Identify the concept that does not  66. 516 Msi+{l Ay Ak el
indicate any type of library resource 1 tufadl el ddl [aeuann
sharing : R

(A) Library Cooperation (A) AUAY ALSIR

(B) Library Networking (B) duray -eqslal

(C) Library Committee (C©) Aman UMM

(D) Library Consortia D) siaay sAqRlul

67. Who among the following is  67. LAl sig Adgdee-dl Hina
considered as the father of the siolal Rauzanie Mdl @ ?
Human Relations School of Thought

in Management ? (A) Wleen Al

(A) Elton Mayo (B) w2 U oxls

(B) Chester I Barnard
(C) HsH dAoR
{C) Max Weber

(D) Henri Fayol (D) &l 3uid

68. The first ISBD standard to be 0% -l 53 25 2ol 6l. 2umis
dgedl uddl daR sl Wy

ed :

(A) 241520008 ()

B) 2S5 20 6l <L (FAreflAm)
(© 283609 ()

(D) ISBD(M) M) 20501 6081 (An)
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produced was :
(A) ISBD(S)
(B) ISBD(NBM)

(C) ISBD(G)



69.

70.

71.

The concept of emptying digit

facilitates :

(A} Hospitality in chain
(B) Hospitality in an array
(C) Interpolation in chain
(D) Extrapolation in chain

Strategic Planning is in a purview

of :

(A) Top and Senior Management

(B) Middle and Executive
Management

(C) Lower and Supervisory
Management

(D) Stakeholders users

Identify the odd pair from the

following :

(A) Citation and plagiarism
{B) D space and digital library
(C) Dublin core and Metadata

(D) Thesaurus and book selection
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70.

71,

vl vis-l Roeua ........ {l ylas

AU 9.

(A) gvieti atdellecdl
(B) ulddui alaidslledl
(C) #Huel lid2 &Y
D) guall olle uAY

Yl A% Sl sefdxul 2w

-

8 ?

(A) G 4 (ﬂ:{l Al
(B) 4 24 adladl dua-
(C) [F3q ¥4 [Adlae At
(z25

(D) 558131 Sles )

GuyiaLsdlil
{lAAil sRi0ld ASl iavil :
(A) Aceil A RS AR
(B) Sl 2y A Slwed dlde
(C) sotell4 SR 24 Hasal

D) Al A Yads wdedl



72,

73.

74,

75.

The values of variable divided into
two equal parts indicate their :

(A) Mean
(B) Median
(C) Mode
(D) Inference

The Bodleian Library is in the
university of :

(A) Cambridge
(B) Oxford
(C) Harvard
(D) Stanford

COMPENDEX is the On-line
Database for :

(A) Management

(Bj Commerce

(C) Economics

(D) Engineering

Impact factor is calculated on the
basis of :

(A) Number of subscription to a
journal

(B) Number of articles published
and citations received to a
journal

(C) Number of articles downloaded

from a journal

(D) Age of the journal

72,

73.

74.

5.

ALl Yeurl o ¥qHlrl Ml adadi
2 dud suld 9.

(A) i

(B) s

(C) His

(D) $gy

olisella aldd Il 5§ yaRldui
8 ?

(A) ¥slly

(B) »lisuss

(©) eds

D) R5S

SIS i ASH S2181 A
i 9,

(A) AR%A~R

(B) siual

(C) Ssi-iHlsn

(D) \rrluToL

Srige 5523l aQdl
BUHLD SAML LA 69,

(A) WHRSIAL aaerHi-dl Avuy

(B) AMASHL a2 addi Avil
Ml 2l Bazul (citations)
ey
AR5 SIGdls s3al avii-l
Av)

AHASH ay

(C)

D)
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ROUGH WORK
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